Dimension  : 560x400x960mm  gER
Load capacity: 300 KG certified by —{@4
Tested up to 900kg without collapse

Galvanized structural steel S350GD + Z -thickness 20/10
According to EN10346

Varnished with RAL 9002 polyester powder with thickness min 70 p -
max 120 p

Brackets assembling KIT:

4 x SCREWS M8x90 8.8 DIN 931 UNI 5737 W.Z.
4 x AUTO BLOCK NUTS DIN 985 M8 W.Z.

8 x FLAT WASHERS 8.4x16x1.6 UNI6592 W.Z.
8 x LOCK WASHERS M8 UNI8842A W.Z.

Wall fixings:

4 x FLAT WASHERS 10.5x21x2W.Z. UNI 6592
4 x HEX HEAD WOOD SCREW UNI704 M10x90
4 x PLUGS 14x75

Crossbar assembling KIT:

2 x FLAT WASHERS M8x24 DIN 9021 W.Z.
2 x HEX HEAD BOLD UNI5739 8.8 M8x20 W.Z.
2 x FLAT ZINC COATED FIXING PLATE

4 x 22x39mm Anti-vibration dampers shore 45 rubber
M8 thread



